N

INREVR2ABALT—TIL 2/1(X) ~ 2/28(%)
A N 7K X & o H
8:25 J19)4% 8:25 J29))#%
A ~ (/IN1~1)\6) ~ (/N5~Hh3)
9:25 I\ 9:25 +E
9:30 9:30 — SR 9:30 — SR 9:30 — R RER 9:30 J191R§R 9:30 — SR
B | ~ ~ | (BREUL) | ~ | (BEREMUL) ~ | (BREL) ~ (/IN1~/)\6) ~ | (BREUL)
10:50 10:30 T 10:30 Sl 10:50 )l 10:30 SN 10:30 +E
10:55 — RSN 10:55| —RAIPER |10.55| —ASEIRER 10:55 — SR 10:35 J290%% 10:35 J1405%
C| ~ | BrEML) | ~ | BREULD | ~ | EGREMD) ~ | (EREE) ~ UNS~ER3) | ~ | (N1~i6)
11:55 I 12:15 pizJE2 12:15 )| 11:55 )1 11:35 I\ 11:35 piz)E=
12:20 — RSN 12:20 V-0 12:20 — RS AR 12:20 — RS AR 12:20 W3z h> 11:40 — RS AR 11:40 J2105%
DI ~ (BRREL L) a7 (BRREL L) = (EBREL L) = (GBRREL L) = (GREL L) = (EREL L) = (/N5~FR3)
13:20 THET 13:20 THE 13:20 TR 13:20 THEF 13:20 IKAE 12:40 =) 12:40 Hig
13:45 — RS IR 13:45 — RSN 13:45| —HAEEIER 13:45 — SR 12:45 J190%R 12:45 BP1
E 7 (ERELU L) = (ERELU L) R (SREU L) A2 (EREL L) = (/INL~/]\6) A2 (/M ~F3)
14:45 JINL 15:05 K12 15:05 ifjE2 14:45 L2 13:45 JNLL 13:45 T+
15:50 BP1 15:50 J1#%R 15:50 J190R 15:50 J 14048 15:50 J19)% 13:50 J240%% 13:50 124k
F = (/M ~F3) = (/INL~7\6) = (/INL~7\6) = (/IN1~7)\6) = (/IN1~7)\6) = (/N5~H3) = (/N5~HR3)
16:50 THET 16:50 Kig 16:50 JNLL 16:50 THEF 16:50 s 14:50 =) 14:50 iz
16:55 J24R% 16:55 J 1) PR 16:55 J11)4R% 16:55 J24) PR 16:55 J 14K 14:55 J 14K 14:55 J 14K
G| ~| ts~m3) | ~ | thi~me) | ~ | ni~me) | ~ | hs5~@3) | ~ [ Ghi~e) ~ | upt~e) |~ | Ghi~ie)
17:55 N 17:55 His 17:55 I\ 17:55 THET 17:55 izE2 15:55 I\ 15:55 izE2
18:00 J 1R 18:00 J1#%R 18:00 BP2 18:00 BP1 18:00 J24)P§R 16:00 J24)P§R 16:00 J1#) PR
H| ~ (/N1~1)\6) ~ UN1~ie) |~ UM~E3) |~ UM~E3) |~ (/\5~th3) ~ (N5~e3) | ~ (N1~/)\6)
19:00 THES 19:00 K1 19:20 I 19:00 THET 19:00 TaE 17:00 TR 17:00 1B
19:25 — RSN 19:25| —HEHIRER |19:25 — RS AR 19:25 J290%R 19:25| —ARAIPIR 17:05 BP2 17:05 BP2
I = (BREL L) = (SRREL L) = (SREL L) = (/N5~HA3) = (GRER L) = (/M ~F3) = (/hM~F3)
20:25 THET 20:45 )1 20:25 TR 20:25 THET 20:45 IKAE 18:25 )l 18:25 izE2
20:50 _ﬂr!bq:':!f& 20:50 _ﬂﬁ*ﬂq:'ﬁ& 20:50 _ﬂgq:':!f& 20:50 _ﬂr!b*}]q:lff& 20:50 _ﬂr!"*).]:!f& 18:30 BP3 18:30 —ﬂﬁ*ﬂquf&
J = (SRREL L) = (SRREL L) = (SREL L) = (SREL L) = (BREL L) = (/M ~F3) = (SRREL L)
22:10 THET 22:10 K12 22:10 IKAE 22:10 IKAE 21:50 TR 19:50 = 19:50 K12
19:55| —HRHER  [19:55 BP3
= (ERREL L) 2 (/M ~=E3)
21:15 )| 21:15 K12
X (FT1ITTHRISAERDFT,
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